int S1,S2;

void setup()

{
Serial.begin(115200);
pinMode(2,INPUT);
pinMode (3, INPUT);
pinMode(13,0UTPUT);

}
void loop()
{

S1 = digitalRead(2);

S2 = digitalRead(3);

Serial.print(S1);

Serial.println(S2);
if(S1 == 0)

digitalwrite(13,1);
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if(S2 == 0)

digitalwrite(13,0);
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void loop()
{
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S1 = digitalRead(2);

S2 = digitalRead(3);

Serial.print(S1);

Serial.println(S2);
if(S1 == 0)
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digitalWrite(13,1);
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}
if(S2 == 0)
{
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digitalWrite(13,0);
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Output
Sketch uses 2318 bytes (7%) of program storage space. Maximum is 32256 bytes.

Global variables use 192 bytes (9%) of dynamic memory, leaving 1856 bytes for local variables. Maximum is 2048 bytes.




